UNIVERSEL

UNIVERSAL

Notice Téte de fourche Café Racer - Cafe Racer nose fairing instructions

e N\
i
B

"

1 PERSON

30" - 45

EASY

ALLEN

O v

* Dépend du montage
d'origine pour le phare
* May depend of the
original headlight fitting

1 x1 Carénage téte de fourche Ermax Ermax nose fairing
2 x1 Bulle Ermax Ermax screen

3 x1 Patte de fixation droite (R) Right fixing bracket (R)
4 x1 Patte de fixation gauche (L) Left fixing bracket (L)
6 X2 Vis BHc M8x40 M8x40 BHc screw

7 x9 Vis BHc M5x20 M5x20 BHc screw

8 X9 Rondelle plastique @5 @5 Nylon washer

9 x9 Insert caoutchouc M5 M5 Rubber insert




UNIVERSEL

UNIVERSAL

UL, eunax. comt

Instructions de montage - Mounting instructions

Démontage - Disassembly Montage - Assembly

nax sont congu
2 notre vol

Jutre
ixation. Le

ndiguées exclu
n plastique et les vis en aluminium. L
ent les liquides de frein ou de




